7\
AY4
n
1]
=
un
L

© 2024 Hansa Armaturen GmbH - www.hansa.com - 24.04.2024

03131173 HANSARONDA - Washbasin faucet, low pressure

EAN: 4015474212671

statichansa.com/03131173

Spare parts
SP03131173
Name Code

1 Lever Chrome 59913761

11 Screw, M5x8, SW2.5 59904755
13 Cover plug Chrome 59913762
2 Covering cap, 33x3 mm Chrome 59912504
3 Tightening nut, M40x1 1003409V
4 Cartridge, 3.5 Eco 59912324
4 Cartridge, 3.5 Classic 59913075
41 Temperature adjustment limiter 59912325
43 0-ring, d 2824x2.62 59912590
b 0-ring, d 10.10x1.60 59905072
51 Pop-up operating rod Chrome 59913652
5.2 Swivel joint 59904624
53 Bottom seal 59914591

55 Fixing plate 59904765
5.6 Screw, M8x1, SW13 59904766
57 Fixing set 59910749
58 Pipe 59913398
59 Pipe, M8x1, L=560 59912806
510 0-ring, 6x1.4 59913266
51 Fixing screw, M8x1, L=140 59912474
6 Aerator, M18.5x1 59913489
6.1 Fitting ring for aerator Chrome 59913654
6.3 Key for aerator, M18.5 59913367
7 Pop-up waste Chrome 59904620
8 Fitting nut 59904969
8.1 Sealing kit, 14.9x8.5x1 59902352
82 Sealing kit, 10x8 59902272
83 Hose 59902151

8.4 Gasket, 15x8x4 59902270
NI Key, SW30/34 59912108

1


https://static.hansa.com/03131173

